(!'1)KBagpatr cCcyMMbl un  pa3HOCTHM  (paszioxXnTb Ha MHOXWUTE/IN  METOAOM
rpyrnnupoBKu)

1) XxN2 + 2xy + yN2 = ... 2
2) XN2 = 2xy + yN2 = ... a —I—
3)an2 +b"2 +cN2 + 2ab + 2ac + 2bc = ...

X2 + 2xy + yN2 = XN 24+xy+xy+y " 2=x(x+y)+y(x+y)=(x+y)(x+y)=(x+y)" 2
-2a=-a-a=a(-1-1)=-2a

ata=2a
2a=a+a
XN2 = 2Xy + yN2 =X"2-xy-Xy+y2=X(Xx-y)-y(X-y)=(X-y)(x-y)=(x-y) "2

an2 + b2 + 2ab + 2bc=a(a+2b)+b(b+2c)+c(c+2a)
an2 + b~2 + cN2 + 2ab + 2ac + 2bc= a2 + b2 + ab+ab + ac + bc =
a(a+b+c)+b(b+a+c)+c(c+a+b)=(a+b+c)(a+b+c)=(a+b+c)N2



